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What is the percentage change in the overall sales turnover of the five companies together between 

2001 - 2002 and 2002 - 2003 ? 2001 - 2002 और 2002 - 2003 के बीच ऩ ांच कां ऩननयों के कुऱ बबक्री 
क रोब र में प्रनिशि ऩररवितन ककिन  है? 

A.  17.21 % 

B. 14.68 % 

C. 12.67 % 

D. 21.24 % 

 
Answer: Option B 
Explanation: 

The required answer is 

100 - percentage value of the fraction (Absolute change/first year's value). 
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What is the absolute change in overall sales turnover of the five companies together between 2001 - 

2002 and 2002 - 2003 ? 2001 - 2002 और 2002 - 2003 के बीच ऩ ांच कां ऩननयों के कुऱ बबक्री क रोब र में 
ऩूर्त ऩररवितन क्य  है? 

A.  712.43 

B. 142.48 

C. 683.53 

D. None of these 
  

Answer: Option A 
Explanation: 
Absolute value of the difference between the sum of the turnover of the five companies for 2001 - 
2002 and 2002 - 2003. 

 

 

Which of the companies shows the maximum percentage difference in sales turnover between the 

two years ? कौन सी कां ऩनी दो वषों के बीच बबक्री क रोब र में अधधकिम प्रनिशि अांिर ददख िी है? 

A.  Honda 

B. GM 

C. Hyundai 

D. Maruti 
 

 
Answer: Option C 
Explanation: 
Hyundai with 25.25 % is marginally higher than Honda with 24.5 %. 

 

 

 

What should have been the sales turnover of GM in 2002 - 2003 to have shown an excess of the 

same quantum over 2001 - 2002 as shown by the sales turnover of Maruti ? २००२-२००३ में जीएम क  
बबक्री टनतओवर ककिन  होन  च दहए थ , जो २००१-२००२ में सम न म त्र  से अधधक ददख य  गय  थ  जैस  कक 
म रुनि के बबक्री क रोब र द्व र  ददख य  गय  है? 

A.  953.76 

B. 963.76 

C. 952.76 

javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;


D. 962.76 
 

 

Answer: Option D 
Explanation: 
GM should have increased its sales turnover by Rs.49.13 crore. Hence, the answer is 913.63 + 
49.13 = 962.76. 

 

 

 

What is the approximate difference between the average sales turnover of all the companies put 

together between the years 2001 - 2002 and 2002 - 2003 ? वषत 2001 - 2002 और 2002 - 2003 के बीच 
सभी कां ऩननयों के औसि बबक्री क रोब र के बीच ऱगभग अांिर ककिन  है? 

A.  133.45 

B. 142.48 

C. 117.6 

D. None of these 
 

Answer: Option B 
Explanation: 
Difference between the sum of the two years divided by 5. 
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